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Equation of a Line - Worksheet

Skill
Group A - Gradient of a line

Calculate the gradient of the following lines:

1) ) 2) Yy
10 10
g g
6 6
. .
- - - — T /{ - - - - — T

3) 4) Y
6
5
|
3
2
2 i
! mmmE; E— i 3 | L
2 1 0 1 2 3 4 5 Z t
i 2
2 -3
4

© Third Space Learning 2021. You may photocopy this page.
1



GCSE Maths Revision | Algebra 6 THIRD SPACE

Equation of a Line - Worksheet

5) Y 6) Yy

=) 3 3 1 0 1 2 3 4 5 $
-1 1
3 L1 10 i ] 3 3 5 &L
-1
-2
7) Yy 8) Yy

9 10
8 9

© Third Space Learning 2021. You may photocopy this page.
2



GCSE Maths Revision | Algebra 6 THIRD SPACE

Equation of a Line - Worksheet

9) Y 10) Y
I: 6
! 4

11) Y 12) Y

© Third Space Learning 2021. You may photocopy this page.
3



GCSE Maths Revision | Algebra 6 THIRD SPACE

Equation of a Line - Worksheet

Group B - Identifying the y-intercept
Identify the y-intercept of the following lines:
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Group C - Find the equation of a line in the formy = mx + ¢

Write down the equation of the lines below in the formy = mx + c:
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Applied
1)
2)
(a)
(b)
3)
(a)
(b)
4) (a)
(b)
5 (a)

(b)

A line has a gradient, -1, and a y — intercept at (0, 5).
Write the equation of this line in the formy = mx + c.

A line has a gradient, 2, and passes through the point (4, 11).
Find the y — intercept of this line.

Hence, write the equation of this line in the formy = mx + c.

The graph below is a distance time graph for a train, over 10 seconds,
during a journey.
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Find the equation of the straight-line graph. Be careful when determining
your y — intercept.

What does the gradient of the line represent in terms of this train?
Explain your answer.

4
il 3 ’
Find the y — intercept of this line.

A line has a gradient and passes through the point (3, 6).

Hence, write the equation of this line in the form ay + bx + ¢ = 0.

Write down the equation of the line that passes through the points
(= 3,7)and (— 6, 11).

Write the equation of this line in the form ay + bx + ¢ = 0.
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1) Find the equation of the line shown on the graph below.

Y

e |

(3]

Give your answer in the formy = mx + c.

(3 marks)
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2) (a) A straight line is shown below.

Y

Find the equation of the line.

3)
(b) Give the y coordinate of the point on the line with an x
coordinate of 2.
1)
(4 marks)
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3) Y
A

y=2z+4

/ .

70

The line y = 2x + 4 crosses the y axis at P.

What is the value of y at P?
(1 mark)
4) Yy
3
1
3 2 1 0 1 4 a:
-1
/
Write the equation of the line in the form ay + bx + ¢ = 0.
(4 marks)
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Question Answer

Skill Questions

Group A Calculate the gradient of the following lines:
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Group A |10) ? 10) 1
contd
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Identify the y-intercept of the following lines:

Group B
1) 7 1) 1
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GroupB [3) ? 3) -3
contd
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GroupB [8) 7 8)3
contd
9) o 9) — 4
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Group C Write down the equation of the lines below

inthe formy = mx + ¢

1) g 1)y =2x + 1

10

2) Y 2)y=3x+1

3) 3)y
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Group C

contd

5)

6)

7)

8)

3
5)y=?x+2

6)y=%x—2
7) y =— 5x
8)y =— 3x
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9) Y 9)y =5x + 4
4 -3 =2 -/0 1 3 4 6 1:
Y
10) ; 10)y = ——x — 2
Yy
11) : 1)y = ——x — 2
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Question Answer

Applied Questions

1) A line has a gradient, -1, and a y — intercept y=—x+5
at (0, 5). Write the equation of this line in the
formy = mx + c.

2) A line has a gradient, 2, and passes through
the point (4, 11).

a) Find the y — intercept of this line. a) y —intercept=3

b) Hence, write the equation of this line in the b) y=2x+ 3
formy = mx + c.

3) The graph below is a distance time graph for

a train, over 10 seconds, during a journey.
Y
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a) Find the equation of the straight-line graph. [a) y = 12.5x + 962.5
Be careful when determining your y —
intercept.

b) What does the gradient of the line represent |b) The gradient is the change in
in terms of this train? Explain your answer. distance over the change in
time, so it represents the

speed of the train.

4 .
4) a) A line has a gradient, —, and passes through |@) y — intercept = 2

the point (3, 6). Find the y — intercept of this
line.
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b) Hence, write the equation of this line in the
formay + bx + ¢ = 0.

b) 3y —4x -6 =0
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5)

a) Write down the equation of the line that
passes through the points (— 3, 7) and
(-6, 11).

4
a) y=—?x+3

b) Write the equation of this line in the form
ay + bx + ¢ = 0.

b) 3y + 4x —9 =0
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Question Answer
Exam Questions
Find th tion of the line sh o : 1
1) e The cquation of the Hne SHowh Gradient identified as —- 1)
on the graph below. 2
] y — intercept identified as 3 1
7 1
y=>x+ 3 @
-5 -4 -3 =2 -1 0 1 2 3 4 a:
Give your answer in the form
y = mx + c.
2) (a) |A straight line is shown below. (a) Gradient identified as 4 1
Y y — intercept identified as -2 @
: y =4x — 2 80}
5 4 3 1 0 1 3 4 5 .’L’
Find the equation of the line.
(b) [Give the y coordinate of the point on [(b) 6 ey
the line with an x coordinate of 2.
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3) Y y =4 @
A
y=2z+4 Accept embedded value of y: P(0, 4)
17
/ 0 ’ m

The line y = 2x + 4 crosses the y
axis at P.

What is the value of y at P?

4) y o 4
Gradient identified as 3 )
y — intercept identified as -3 1)
T 4
. y=73x- 3 (4]
1 ERESARARERARARS-dnsnnsEiant ) 3y —4x+9=0 1)
Write the equation of the line in the
formay + bx + ¢ = 0.
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